inzoj= diffeq =y Dlu[x, yl, X] -x D[u[x, yI, y] =0;
sol = DSolve[diffeq, u[x, yl, {X, y}I
U2[X_, Yy_1=u[x, y] /. sol [[1]] /. C[1][t_]1->Sin[t]
Pl ot 3D[u2[x, y1, {x, -Pi, Pi}, {y, -Pi, Pi}, PlotPoints - 20, AxesLabel - {"x", "y", "u"}]
diffeql =D[V[X, y], X] + 2D[V[X, yI, Y] ==1;
sol 1 = DSol ve[di ffeql, v[x, y], {X, y}]
V2[X_, Y_1=V[X, y] /. sol1[[1]] /. C[1][t_]»t"2
Pl ot 3D[v2[x, y], {X, -5, 5}, {y, -5, 5}, PlotPoints » 20, AxesLabel -» {"x", "y", "v"}]
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out[21]= HU[X: yl-C[l] [E (x2+y2)”}




